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Day 3: Find doubles to double 20 and corresponding halves.

We can show this on a bar 
model…

We can show this on a bar 
model…

24p

12p 12p

Half of 24p is 12p. 
Double 12p is 24p.
Half of 24p is 12p. 
Double 12p is 24p.
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Day 3: Find doubles to double 20 and corresponding halves.

In pairs, divide a whiteboard in two.
Use 10p and 1p coins to find double 13p, 14p... 

up to double 20p.
Then calculate the corresponding halves.

In pairs, divide a whiteboard in two.
Use 10p and 1p coins to find double 13p, 14p... 

up to double 20p.
Then calculate the corresponding halves.


